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	Price before GST
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 (opp angles of parallelogram)
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	Largest x = 4
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	Radius = 7 cm
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	No. of sides polygon has = 
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	Sum of interior angles
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	No. of pages 
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	Time required 
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Time finished = 11.45 am
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	Total surface area
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	Volume of box
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	No. of cubes along each length
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No. of cubes along each breadth
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No. of cubes along each height
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No. of Rubik cubes
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	Western
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	Total No. of boys 
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Total No. of girls 
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Ratio of boys to girls = 22 : 18 = 11 : 9
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	% who prefer Malay food
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	A2 for constructing triangle

A1 for constructing angle bisector

A1 for constructing perpendicular bisector
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